
Paper / Subject Code: 44804/ Financial Management - II

Marks:75
Time: 2 1/2 Hours

N.B.: 1.Q.l is comPulsory'
2.d.zto Q.5 are compulsory with internal choice'

f. nU questions carry equal marks' '
4. Working notes should form part o{your answer'

5. Use of simple calculator is allowed'

Q.lA)Selectthecorrectoptionandcompletethesentence.(Any8)(8)
1. Top management of the Company it inuo'Ga in framing strategy as it has long term

impacts on the comPanY's ryt*':'
ilJil,orJe b) businesi c) tunctional d) departmental 

of money?
2. Which of the following methods oicanitaflr19.g*g ignores the time value 

'

a) profitablitv rno.* ul fr.iprrr.rt var,i. (MVi.) lnternal Rate of Return (IRR) d) Payback

period
5. itt. level of sales at which NPV is equal to' will be the financial break-even point'

a) zerob) one c) two d) three 
^ .-L4 rr-r\ -o-,inc nnt level of

4. As per ---rp;;9;, tht cost of debt (kO remains constant upto a certatn

i;;;;Js;ffi-* ihereafter at an increasing rate'

a) Net Income b) Neioperat!1q rn.o.. ri"rrrodigliani-Miller d) Traditional

5. According to 

-.- 
the dividend policy is irrelevantl 

,., (lrqharn an. Dod
a)walter,s Model b) c";ff;ii;F;ili-vioaigr-i-Mi11er d) Graham and Dodd

6. Mutuar fund is . _i;pootr rog.ir,.r rrru"fund. of:ffian] investors to make investments rn

assets.

.j ."ttp*V b) trust c) bank d) partnership firm

z. Mut'lal Funds are regulated by --
I fr:i3;tf,,,,3,Hlt3}llX*, wilr not be abre to pav interest or principar amount *n" 

.,

they are due is called 

-_= 
, ofault risk

a) reinvestm.n,,"[iyq;-iAity risk.c) legislative ris\ p a1

9. Customer evaluation iJperformea,"tiig i* consideration the model'

u) ZC't b)3C's c) 4 C's d) 5C's . .Lt-

i'0. n*.i""Ules Management deals with ' . ".-
a) receipts of raw rirui.-riuf, b) debtors ,oii--t.rtioo t) creditor's management d) inventory

management

Q.1B)Statewhetherthefollowingstatements,areTrue].orFalse(anyseven)(7)
l. Business Strat'egy focuses on .pr.ifrl.nurt'i::gt'g'Il or business unit (SBU)'

|..1,;ffi,;;;#*:n',*:'ffi i'"nffirH*:1,:ii:*:1i'i;:mostreasib,eandproritab,e
investments are made'

4. A decision tree.is a diagram representing a decision probrem as a series of decisions to be

f.T*l*iiif;ill"f,ll1lfr'#ll?;susedbvu:o*!11viscalled^capitarstructure
6. Stable ai'iatoipoii;i;;; ':Fttr* 

i*p*l'"Il th: market price of shares'

7. A close -..d.:.,il;;.i *lq ,: on. ffi ,.11s and repurchales units at all times'

8. Current vitld;;;;t ut vitra t3.Maturitr (YTM)'

9. when rrcait peiJi; ;;;;"ttd' bad delt expenses decreases'

10. Mutual r*ra ,.t.n es offer guaranteed returns to investors'
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.2 A) Blue Ocean Ltd is considering the following two machines for
Particulars Year Machine A Machine B
Initial cash outflow ( Rs) 0 2,00,000 1.90.000
Expected life (years) 5 5

Salvage value at the end of
year 5 (Rs)

0 10,000

Earnings before depreciation
and taxes (Bs)

I 40,000 60,000

2 50,000 50,000
3 70,000 30,000
4 80,000 70,000
5 90.000 85.000

urchase: (15)

The required rate of return is l2%o. The tax rate applicable to the company is 30%.
Depreciation on Machines is charged on straight line method.
You are required to assist the company on selection of machine using:
a) Net Present Value (NPV) b) Profitability Index c) Discounted Payback method.

OR
Q.2 B) Compassion Ltd. has Rs 10,00,000 available for capital budgeting purpose. The
following projeqts and associated lity indexes ave been determined

Proiect Cost Rs Profitability Index
I 3,00,000 1.20

2 1,50,000 0.90
J 3,50,000 t.20
4 4,50,000 1.18

5 2,00,000 t.20
6 4,00,000 1.05

Which all from the above investments should be undertaken? Assuming that the projects are

indivisible, you are required to use NPV method to rank the projects. Assume that there is no

alternative use of the money allocated for capital budgeting.

Q.2 C) Pe ing details:ls consrdenng a new prolect wl
Sr.No. Particulars Rs in crores
1 Initial capital cost 500

2 Sales p.a. 700
a
J Variable cost p.a. 200
4 Fixed cost p.a. t20
5 Discount rate 8%

The life of the project is 3 years. Compute NPV of the project.
From the above given project details, calculate the sensitivity of the (a)Project cost (b)

Variable cost and (c) Sales. Indicate the most sensitive variable.

Q.3 A) Two companies Seeta Ltd and Geeta Ltd are identical in all respects except the (8)

degree of leverage. Seeta Ltd has 9% debt of Rs 7lakhs, whereas Geeta Ltd has no debt. Both
thJcompanies are eaming profits before tax of Rs 5 lakhs each. The equity capitalisation rate is

11% and the corporate tax rate is 30%.

You are required to compute market value of the two companies (levered and unlevered)

using Modigliani -Miller theory with Corporate Taxation.
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x*1;,:1,,"r*Tiiil,l*#*Fi#,fttl.TiJ,#tililffi "''
caPital. OR

Q3 C) Following information is given for Joy Ltd 
(1O

Earnings Per share H;'
Dividend Per share fi%
Cost of Capital (ke) 

22o/o

T:'fl1"1firt}"ffi"\'i**' market price per share using:

(a) Gordon's formula

1bY) walter's formula 
I -*'rirles vou the following portfolio of its balanced 'd'*ttgi

Q.4 A) sunde^r-M:Yf*: lB;*' vou the following

Y.i#l i" *ioii ieptember' 2024'

^uuir"ffi;'3j,lt*i,Ei:ii[J*H":*:]h']'i&september'2024areasundsr:

, HI;,,$*$;r; #***',I{*:ts.,x,1$T::ill 
fffi * 

zoz+

Septemocr ' '"- " UK - llowing Bontls.

Q.4 B) Corola Ltd is considerine invesme* in,o:,e,-o]rI:*

O"tU
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Q.4C)GambitLtd.,spresentsaleisRs30,00,000perannlmwith20dayscredi1nfl^"1^*.^9
present variabte oost-iJiirTrorrur.. *o toioiirxed cost is Rs 5,00,000 per annum' The companli

expects pre-tax r.*,'i oi in**'n*t A-:i'l"i" ti:t:t:: sales' the CFo of the company ts

contemplating to ,.ru* it, credit poticliwittr increase in.r.aiiprriod, the sales are expected to

increase as follow:

you are required to advise the cFo of the company regarding the best credit policy which

rfr*fa be adopted' Assume 360 days in a year'

Q.5A)Whatarethethreelevelsofstrategy?Explaineachofthesewithdiagamand(8)
suitable examPles.

Q.5B)ExplainanysevenfactorsdeterminingCapitalstructureofacompany.OR

Q.5 C) Write Short Notes on the foltowing' (Any three)

1. Significance of dividend policy'

2. DJcision Tree AnalYsis

3. Wealth maximization
+. eAr*tuge of Mutual Fund

i. Pit.o*t.d PaYback Period

(7)

(1s)

*********
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